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LOGIC AND PHILOSOPHY
( Theory )

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries 1 mark each : 1x12 = 12
Q. Nos. 2-13 carry 2 marks each : 2x12 = 24
Q. Nos. 14-23 carry 4 marks each : 4x10 = 40
Q. Nos. 24-27 carry 6 marks each : 6x4 = 24

| Total = 100
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(2).
1. Answer the following as directed : 1x12=12

w1 AT RIS i

(a) Logic is a science.

4 ( Fill in the blank )
THRWE 27 @B R

(AR 91 1 T4 )
(b) Universal negative proposition is represented by the
symbol .
( Fill in the blank )
AR F9LF T AT e e I A |
(A S [T 70 )

(c) Give an example of one-predicate general proposition.

93 ReEge YR I579 b1 Srrzse i |
(d) What is the name of the subject of the conclusion of
a syllogism?

TRR ey S o W &2

(e) Tn a categorical syllogism from two particular propositions /
universal propositions no conclusion can be drawn.

( Choose the correct answer )
<1 Faeors s 151 RO™ 67 / ST 691 ©[1 Frarg ¢l S |
(o Teachl AR ey )

() FERIO is a valid mood of the First / Second / Third Figure.

( Choose the correct answer )
FERIO 23w / T8 / $OW ¥R (3¢ IS |
(% Tachl AfR ey )
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(3)

(g) Every logical connective connects only _____ propositions.
( Fill in the blank )
SITOFCH] ORI SREAGCPE, (FT _____ o2 SRCA IT |
( AR 31 o[ )
(h) What is the derivative meaning of the word ‘Philosophy’?
‘Philosophy’ *RibR Jerifaesre 5 2
(i) The founder of Yoga philosophyis __ .
( Fill in the blank )

@ﬁ?*fﬂ?ﬁﬁo‘él@k‘ci l
( AN 3% o[ T )

(i) ‘“‘Monads are windowless.”” Who said this statement?
“PACRA (TR FFERAIT 1 RRFRAT 1 @2 I/ @i
(R 2

(k) In Indian philosophy, valid knowledge is known as .

( Fill in the blank )

CIgoR ™S I WG QA ™ |
( N 3% o 4 )
(I) The different types of Idealism are Idealism,

Idealism and Phenomenalistic Idealism.
( Fill in the blanks )

oA Rfes eremz 2'F S, SRAM S
ST SR |
(AR IR [ 9 )

2. State two points of difference between traditional logic and
symbolic logic. 1+1=2

RIS SERET T OIFIE SHRemT TET Kol 1 Seae 31 |
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(4)

3. Classify proposition according to quantity. 2
“fRre SPIR I8 NRerew 411 |
4. Write two points of difference between sentence and proposition.
1+1=2
R S I &S 761 o1 o1 o
5. Define conjunctive proposition with example. 2

TV (TCS ASE oA g ey |

6. Write two points of difference between Deductive and Inductive
Inference. 1+1=2

TSR ST S We o1 N1 B4 |

7. State two rules of conversion. 1+1=2

NS 45! Ty Seay 4 |

8. Write the names of two valid moods of the Second Figure. 1+1=2

a8 stew o1ty 6 A B

9. Symbolize the following propositions : 1+1=2
TS a1 THRD LBFIE oS 2R A

(a) 1t is false that the grass is not green.

351 Ry (@ Sre@ oiedm =y |

(b) Either I.will go to library or attend the seminar.

W TR <RSI TN AN HAGAICES Soifgs A |
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10.

11.

12,

13.

14.

(S)

Write the names of two Vedic schools. - 1+1=2
whI (I TR < o |
Give two criticisms of Innate Ideas. 1+1=2

SFHS (IFONT BT STICATS SAICEIT |

Which of the following statements are true? 1+1=2
T (IR0 Bf S 3795 2
(a) (i) ‘“‘Descartes, Locke, Berkeley and Hume are rationalistic
philosopher.”
“ eI, AP, AT A RO i w1
(ii) ‘‘Descartes, Spinoza, Leibniz and Wolf are rationalistic 1
philosopher.” |
“ s, P!, PRi® we gore g e 17
(b) (i) ‘‘Logic is concerned with mediate knowledge, not with
immediate knowledge.”
SRR AT VI TS TS, AT WIS A9 Ny 1
(ii) ‘“‘Logic is concerned with immediate knowledge, not
with mediate knowledge.”
“SRHRBA Ao WS FA97S GiTS, AErT WA 57 w2y |’
State any two points of difference between Realism and Idealism.
1+1=2
M A SRAMS NS R P! 701 N7 SeaAd 1 |
Explain the four-fold scheme of proposition. 4

oS DpIA FRerem im0 1
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(6)

15. Reduce the following sentences into logical form : 2+2=4

T ARPPTR SIS o0 oIS 1l

(a) All that glitters is not gold.
SPCA SO I8 G 7=y |

(b) Only intelligent students can pass the examination.

@9 LT QARIICR @2 2[rFre Balo 29 4T |

16. Explain the figure of a syllogism. 4
HS SRZH [0 T4

17. Distinguish between subject-predicate proposition and class-
membership proposition. 4

- SFRT I T IR -TPTS] o9 Ters A1) [efg 91 |

18. Reduce any one of the following syllogistic arguments into logical
form and test its validity : 4

fRafeiRe T e R @ @b S#REeis Fers ofRas a1 e
TR 3yl Refa 1

(a) Aristotle was a great logician, since he was a philosopher and
all great logicians are philosophers.

aﬁ%’ﬁaamm@a%ﬁwmﬁaawreawwﬁﬁwﬁﬁw

T Bleq SRR AT |

(b) No kings are poor, but all kings are men, so no men are
poor.
CPICN o1 (R A, g IR @ = A, M @I AR
W == |
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19.

20.

21.

22.

23'

24,

(7))

What is truth function? Explain implicative function by giving

a truth table for it. 2+2=4
To)-Fe 1P (I ? G SIoeriR RReIF A1 weortyere wew
Fq1

Distinguish between Science and Philosophy. | 4
e = e e <1 e 9

Write a short note on Epistemology. 4

@RI 91 WH-NARTT ST GBI 5 (Bt foray |

Write four characteristics of Empiricism. 4
wfSerermE HIR6! ¢ & |

Write short notes on : 242=4
oY (o1 Forain

(a) Svarthanumaina

KRR

(b) Pararthanumana
A=

What is a compound proposition? Define each of the different
forms of compound proposition with examples. 2+4=6

A I I @ ? (TT o AR PR S=Reens Bice sige
1zl

Or /7371

Define middle term. Discuss its function in categorical syllogism.

2+4=6
(eI ke a1 | e e TR SRk S 39 |
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(8)

25. Define syllogism. Describe the characteristics of syllogism. 2+4=6
s e | e CaPEEER 30
Or /7137
Discuss Rationalism as a theory of the origin of knowledge. 6

WY TS PR Toqm Bolcel Jfadm oGes! Sl F41 |

26. Discuss the characteristics of symbolic logic. 6
O SHRAWITT CIPFBPTYR ST 1 |
Or /7T

Construct truth tables for any two of the following propositional

forms and find out whether it is tautologous, contradictory or

contingent : 3+3=6

Wﬁmwmwﬁmqﬁammmww
G Forte), Fosfn @ SR IARME R 79 :

(i) ~pvq
(ii) po(p-q)
(iii) ~(p-q)

27. Explain any three characteristics of Indian philosophy. 2x3=6
SRE iy R (e FOfDT CafEy e 4 |
Or /&
How many Pramanas are accepted in Indian phﬂOSOPhy? Disculsis—e

Pratyaksa as a form of Pramana.
SR TS @21 e T I (&Y I bl P T A
e e 74 |

* kK
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